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Chemistry chapter 4 assessment answers

1. The normal chemical reaction present in the protein does not change during. Just move external electrons. Positive charges form when electrons are lost. 3. P, I, Cl, and O will configure the ananas because they are non-metals. Magha, |, Cs, B, and the company will configure because they are metals. 5. (a) P3- ( b)
Mg2 s s (g) Al3 s s (d) O2-; (e) Cl-; (f) Cs + 7. (a) [Ar] 4523d104p6; (b) [Kr] 4d105s25p6 (c) 1s2 (d) [Kr] 4d10; (e) [He] 2s22p6; (F) [Ar] 3d10; (g) 1s2 (h) [they] 2522p6 (i) [Kr] 4d105s2 (j) [ar] 3d7 (k) [ar] 3D 6, (I) [ar]. (a) 1s22522p63s23p1l; Al3 +: 1522522p6; (b) 1522522p63s23p63d104524p5;
1522s22p63s23p63d104s24p6; (g) 1522522p63s23p63523p63d104524p65Ss2 Sr2 sr2 sr2s22p63s23p63d104s24p6; (1 (53552251 1 1+ J 52 1 (sl) 1522522p63s23p63d104s24p3; 1522522p63s23p63d104s24p6; (f) 1522522p63s23p4; 1522522p63s23p6 11. NaCl contains the giant ions arranged in a crystal-swell, not the
co-continental bandwa inn. 13. ionic: (b), (d), (g), and (i); Co-a, (a), (a), (f), (h), and (k) 15. (A)CI.(d) S; () N. ()P (@) N17. (A)H,C,N, A, F. (b)H, I, Br,Cl, F; (h)H, P, S, A, F. (D) Na, |, h, a. (e) Ba, H, N, A21. (A) HF , (b) Company (j) Oh, (D) Pkl , (e) Paul; (f) PO s (G) CN 23. (A) Cesium chloride s (b) barium oxide
slfide slfide slified sl (d) berylum chloride sl (e) hydrogen bromide s (f) aluminum fluoride 25. (A) RbBr (b) MgSe s (g) Na20 s (D) CaCl2 s (E) HF; (f) Rehna s (g) AIBr3 s (h) (NH4) 2S04 27. (A) CLO2 s (b) N204 s (g) K3P s (D) Ag2S s s s (E) AIF3 . 3H20 s (f) SIO2 29. (a) Cromme (lll) Oxide s (b) Iron (1) Chloride; (g)
cromme (VI) oxide s (d) titinion (V) chloride s (e) cobalt (Il) chloride headrati; (F) M.B.B.D. (IV) Sulfide 31. (A) K3PO4 s (b) CuS04 s (g) CaCl2 s (d) TiO2 s (E) NHANOS; (f) NaHSO4 33. (a) Managing (IV) (b) Mercury (1) Chloride ( J) Iron (Ill) Nitret , (d) Titinum (IV) Chloride s (E) Cooper (1) Bromide 34. (a) Eight
electrons: (b) No electrons Be2 s (d) Eight electrons: (e) no electrons Ga3 s (f) No electrons Li s (g) Eight electrons: 36. (a) (b) (c) (d) (f) 38. 40. (a) In this case, the Lewis structure is insufficient to describe the fact that experimental studies have shown two unpaired electrons in each oxygen inn. (b) (b) (b) (b) (b) (b) (b) (b)
(b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b (A) SEF6: (b) XeF4: (j) SeCI3 : SeClI3 : (d) CI2BBCI2:44 . ,uo (=i ! (0 bls LS Jaiie o5 akl puul v o 9 0l Sl Lo,s 95 PB2 + 6 Sl 5152 [ wawi 5 Juiiv w9,b5. Two of the electrons visible in HCL Inu are shared, and the other six are located on
the CL atom as the only pairs of electrons. 46.48. 50. (a) (b) (c) (d) (e) 52. 54. Each bond includes the sharing of electrons between the nuclear. A bond is shared in two electrons . . . four electrons are shared in a double bond . . . and six electrons are shared in a triple bond. (a) (b) (c) (d) (e) 58. 60. (a) (b) CO is the
strong carbon oxygen bond because there is one Joining bonds is C and O. CO2 double bond. 62. (a) H: 0, CI: 0; (b) C: 0, F: 0; (c) P: 0, CI 0; (d) P: 0, F: 0 64. CI2 in CI: 0; Cl in BeCl2: 0; Clin 5in CI: 0 66. (a) (b) (c) 70. Zero formal charges that give the structure is compatible with the original structure: 72. NF3; 74.75.
Bonds to determine the location of two sets of unpaired electrons in water to assume a tethadadreal arrangement, and the result is a bend for the Hawa Inu. HBeH Ino (which has only two electrons to bond with two electrons from the hedrogunus) must be as far away from each other as the electrolysis pairs and hence
linear. 77. Space should be provided for every pair of electrons whether they are in a bond or as a loan pair. The electro-paired satadis understands the location of all electrons. Molecular structure only considers the couple's relationship-relationship-stody. 79. Unless polar bonds are compensated (for example. two
similar atoms are found directly in the central atom from each other), the inu can be non-polar. 81. (a) Both the electrical and molecular structure. (b) The electrical is both of the satados and the molecular structure. (g) Both the electrical geometry and molecular structures are linear. (D) Both the electrical geometry and
molecular structure. 83. (a) Electrical Pair Geometry: octa, Molecular Structure: Square Paramadal : (B) Electrical Pair Geometry: Tetrahadrall, Molecular Structure: Tilt : (j) Electrical Pair Geometry: oct A, Molecular Structure: Square Surface Structure : (D) Electrical Pair Geometry: Tetrahadrall, Molecular Structure:
Takonya s (e) Electrical Pair Satadosity: Takonya, Molecular Structure: Seesaw; (f) Electrical pair geometry: tetrahdral, molecular structure: bend (109 s) 85. (a) Electrical Pair Geometry: Takonya, Molecular Structure: Tilt (120 S) S .0 . . . . . o e e e e e
.......................................................................................................................................................................... Electronic Pair Geometry: Tetrahadrall, Molecular Structure: Takonya s (e) Electrical Pair

Geometry: Tetrahadrall , Molecular Structure: Tetrahadrall , Molecular Structure: Tetrahadrall , Molecular Pair Geometry: Takonya, Molecular Structure: Seesaw; (g) Electrical pair of satados: tetrahdral, molecular structure: Takonya 87. All of these inns and ions contain the bond. Only CLF5, CLO2 , CLO2 , PCI3, SEF4,
and PH2 . 89. SeS2, CCI2F2, PCI3, and CINO are not all. 95. (A) Tetrahdaral , (b) Tri-Paramadal , (g) Tilt (109 s); (s3) tri109) Ke> (sl) ! lalaxe alows °); (f) Tilt (109 s); (G) CH3CCH Tetrahdral, CH3CCH Linear . (h) Tetrahdral; (i) H2CCCH2 linear; H2CCCH2 Trigm-level script 97. 99. (a) (b) (c) CS32 — CS32 — []s%
o] 3L @lw [0S e WeS plas) Ul Joliv wls [J8Me o [IS «dliS The shape is the takonya; CS2 has only two areas of electrical density (all bonds with no loan pairs); Shape is linear101. The Louis structure is made up of three units, but the atom must be reconfigured: 103. Molecular indicates hydrogen on one side. 105.
The structure is very similar. In model mode, each electronic group captures the same amount of space, so the bond angle is shown as 109.5 s. In real mode, the twin pairs are large, due to the hedrogans being compered. It leads to a smaller angle of 104.5 s. 1. The normal chemical reaction present in the protein does
not change during. Just move external electrons. Positive charges form when electrons are lost. 3. P, I, Cl, and O will configure the ananas because they are non-metals. Magha, I, Cs, B, and the company will configure because they are metals. 5. (a) P3- ( b) Mg2 s s (g) Al3 s s (d) O2-; (e) Cl-; () Cs + 7. (a) [Ar]
4523d104p6; (b) [Kr] 4d105s25p6 (c) 1s2 (d) [Kr] 4d10; (e) [He] 2s22p6; (F) [Ar] 3d10; (g) 1s2 (h) [they] 2s22p6 (i) [Kr] 4d105s2 (j) [ar] 3d7 (k) [ar] 3D 6, (I) [ar]. (a) 1522522p63s23p1; Al3 +: 1522522p6; (b) 1522522p63s23p63d104524p5; 1522522p63s23p63d104524p6; (g) 1522522p63s23p63523p63d104524p6552 Sr2
Sr2 sr2s22p63s23p63d104s24p6; (1 (5552251 1 :+ J ‘s2 1 (sl) 1522522p63s23p63d104524p3; 1522522p63s23p63d104524p6; (f) 1522522p63s23p4; 1522522p63s23p6 11. NaCl contains the giant ions arranged in a crystal-swell, not the co-continental bandwa inn. 13. ionic: (b), (d), (g), and (i); Co-a, (a), (a), (), (h), and
(k)15.(A)Cl.(d)S; (e)N.(HP(@N17.(A)H,C,N,A, F.(b)H, I, Br,Cl,F; (h) H, P, S, A, F. (D) Na, |, h, a. (e) Ba, H, N, A21. (A) HF , (b) Company (j) Oh, (D) Pkl , (e) Paul; (f) PO s (G) CN 23. (A) Cesium chloride s (b) barium oxide slfide slfide slfied slI (d) berylum chloride sl (e) hydrogen bromide s (f) aluminum
fluoride 25. (A) RbBr (b) MgSe s (g) Na20 s (D) CaCl2 s (E) HF; (f) Rehna s (g) AIBr3 s (h) (NH4) 2S04 27. (A) CLO2 s (b) N204 s (g) K3P s (D) Ag2S s s s (E) AIF3 . 3H20 s (f) SIO2 29. (a) Cromme (lII) Oxide s (b) Iron (II) Chloride; (g) cromme (VI) oxide s (d) titinion (IV) chloride s (e) cobalt (II) chloride headrati; (F)
M.B.B.D. (IV) Sulfide 31. (A) K3PO4 s (b) CuS0O4 s (g) CaCl2 s (d) TiO2 s (E) NH4ANOS; (f) NaHSO4 33. (a) Managing (IV) (b) Mercury (1) Chloride ( J) Iron (lll) Nitret , (d) Titinum (IV) Chloride s (E) Cooper (Il) Bromide 34. (a) Eight electrons: (b) No electrons Be2 s (d) Eight electrons: (e) no electrons Ga3 s (f) No
electrons Li s (g) Eight electrons: 36. (a) (b) (c) (d) (f) 38. 40. (a) In this case, the Lewis structure is insufficient to describe the fact that experimental studies have shown two unpaired electrons in each oxygen inn. (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b (A)
SEF6: (b) XeF4: (j) SeClI3 : SeCI3 : (d) CI2BBCI2:44 . Two Appearances Moving to CL. e (=i Pb2 + 6 Syl 5152 [ w5 Jusv w9 ,l5. Two of the electrons visible in HCL Inu are shared, and the other six are located on the CL atom as the only pairs of electrons. 46.48. 50. (a) (b) (c) (d) (e) 52. 54. Each bond includes
the sharing of electrons between the nuclear. A bond is shared in two electrons . . . four electrons are shared in a double bond . . . and six electrons are shared in a triple bond. 56. (a) (b) (c) (d) (e) 58. 60. (a) (b) CO is the strong carbon oxygen bond because there is triple bond included C and O. CO2 double bond. 62.
(@ H:0,Cl:0; (b)C:0,F:0; (c) P: 0,CI 0; (d) P: 0, F: 0 64. CI2 in CI: 0; Clin BeCl2: 0; Clin 5in CI: 0 66. (a) (b) (c) 70. Zero formal charges that give the structure is compatible with the original structure: 72. NF3; 74.75. Bonds to determine the location of two sets of unpaired electrons in water to assume a tethadadreal
arrangement, and the result is a bend for the Hawa Inu. HBeH Ino (which has only two electrons to bond with two electrons from the hedrogunus) must be as far away from each other as the electrolysis pairs and hence linear. 77. Space should be provided for every pair of electrons whether they are in a bond or as a
loan pair. The electro-paired satadis understands the location of all electrons. Molecular structure only considers the couple's relationship-relationship-stody. 79. Unless polar bonds are compensated (for example. two similar atoms are found directly in the central atom from each other), the inu can be non-polar. 81. (a)
Both the electrical and molecular structure. (b) The electrical is both of the satados and the molecular structure. (g) Both the electrical geometry and molecular structures are linear. (D) Both the electrical geometry and molecular structure. 83. (a) Electrical Pair Geometry: octa, Molecular Structure: Square Paramadal : (B)
Electrical Pair Geometry: Tetrahadrall, Molecular Structure: Tilt : (j) Electrical Pair Geometry: oct A, Molecular Structure: Square Surface Structure : (D) Electrical Pair Geometry: Tetrahadrall, Molecular Structure: Takonya s (e) Electrical Pair Satadosity: Takonya, Molecular Structure: Seesaw; (f) Electrical pair geometry:
tetrahdral, molecular structure: bend (109 s) 85. (a) Electrical Pair Geometry: Takonya, Molecular Structure: Tilt (120 S) S .0 . . . . e e e e
........................................................................................ Electronic Pair Geometry: Tetrahadrall, Molecular Structure: Takonya s (e) Electrical Pair Geometry: Tetrahadrall , Molecular Structure: Tetrahadrall , Molecular Structure: Tetrahadrall , Molecular Pair
Geometry: Takonya, Molecular Structure: Seesaw; (g) Electrical pair geometry: Tetrahadrall, Structure: Takonya 87. All of these inns and ions contain the bond. Only CLF5, CLO2 , CLO2 , PCI3, SEF4, and PH2 . 89. SeS2, CCI2F2, PCI3, and CINO are not all. 95. (A) Tetrahdaral , (b) Tri-Paramadal , (g) Tilt (109 s); (s3)
tri109) Ke= () ! lalaxe plawws ©); (f) Tilt (109 s); (G) CH3CCH Tetrahdral, CH3CCH Linear . (h) Tetrahdral; (i) H2CCCH2 linear; H2CCCH2 Trigm-level script 97. 99. (a) (b) (c) CS32 - CS32 — Lu[] 5ib @lw [0S ugjs= U 95 ples) [ Joikio 5 LN i [IS «8liS [1i8 1); The shape is the takonya; CS2 has only two
areas of electrical density (all bonds with no loan pairs); Shape is linearl01. The Louis structure is made up of three units, but the atom must be reconfigured: 103. Molecular indicates hydrogen on one side. 105. The structure is very similar. In model mode, each electronic group captures the same amount of space, so
the bond angle is shown as 109.5 s. In real mode, the twin pairs are large, due to the hedrogans being compered. It leads to a smaller angle of 104.5 s. 104.5 °
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